Dixie-Narco, IV

DROP-IN HINGE PINKITS

M016.0

Order: 491,745,000.04 E-Mode Drop-In Hinge Pin Kit
Includes: 1-801,304,930.11  Top Hinge E-Model No Pin
1-900,201,850.31  Carriage Bolt, 5/16-18x1Y%4
1-800,502,870.21  Bearing Sleeve, 7/16 Brass
1-900,700,080.01  Hat Washer, 14 gauge
1-900,801,020.11  Hex Nut, 5/16-18 Center with Flange

Order: 491,745,100.04 DNCB Model Drop-In Hinge Pin Kit
Includes: 1-801,304,920.11  Top Hinge DNCB Model No Pin
1-900,201,850.31  Carriage Bolt, 5/16-18x1Y%4
1-800,502,870.21  Bearing Sleeve, 7/16 Brass
1-900,700,080.01  Fat Washer, 14 gauge
1-900,801,020.11  Hex Nut 5/16-18 Center with Flange

INSTALLATION:

Remove existing hinge from main door.

Place new top hinge with no pin in position.

Install carriage bolt (900,201,850.31).

Install bearing sleeve (800,502,870.21) around carriage bolt from bottom side.
Install flat washer (900,700,080.01) on carriage bolt from bottom side.

Install Hex Nut (900,801,020.11) and secure finger tight.

Using aratchet and ¥2" socket, tighten to secure.

NoorwWDE

Top Hinge

& Bearing

X \ Sleeve
i Flat Washer
@\Keps Nut

Top Door Hinge

June 26, 1997



